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INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that

it mn{ain:u all the pages _in CorTect sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/lnvigilators immediately to ubtain a
fresh Question Booklet.

3. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
unthout its envelope.

3. A separete Answer Sheet is given. & should not be folded or mutilated. A second Answer Sheet shall
not be provided, Only the Answer Sheet will be evaluated.

4. Write your Roil Number and Senal Number of the Answer Sheet by pen in the space provided above.

5. On the front page of the Anawer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening tha circles at the bottom. Alec, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No.. Question Booklat Ng, and Set No. [if any) on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet,

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each guestion in this Booklet is followed by four alternative answers. For each guestion, you dare fo
record the carrect optior: on the Answer Sheet by darkening the appropriate circle in the corresponding

row of the Angswer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer cnce filled in ink cannot be changed. If you do not wish o attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

13. Deposit only the OMR Ansiver Sheet at the end of the Teat_
13. You are not permitted to leave the Examination Hall until the end of the Teat.

14. If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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140/117/27/Set No. 2
No. of Quostions /Wl Y wsar : 150

Time /@WY : 2 Hours/T®R Pull Marks/quls : 450 -

Nots : (1) Attempt as many questions as you can. Each question carries 3 tmarks. One
| mark will be deducted for ¢ach incotrect anawer. Zero mark will be awarded
for each unattempted guestion.
T H N W F S WA R TRS T 3 FF w0 ) AE we TR
o we % W AON | FAF AFORA T T A T )
(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one,

R it Yefedes Tm o I & P vdw ®, @ P ot 3w 3

{1885} 1 P.1.0.)
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Directiona: (Question No. 1-30) Select the best option from the four alternatives given
below.

ec e (T @ 1-30) R R g 9 fawet § & o faewe W wwm #+

1. Hydrogen fuel cell vehicles produce one of the following as ‘exhaust'
A R aRm ol ¥ e’ § W AoivRee § A w0 feeia @ o

(§) NH, (2) CHq (3} H0 (4) Ha0,

2. King Cobra is the only snake that makes its own nest. It makes its nest because
{1) it is a snake-eater and the nest helps attract other snakes
{2) it is a viviparous snake and neecds a nest to give birth to its offsprings

[3) it is an oviparous snake and lays its eggs in the nest and guards the nest until they
are hatched

{4) itis a large, cold blooded animal and needs a nest to hibernate in the cold season

for i A wry T@ aln R, B o dfed @ Bt = e ) T oy oS w Rt
vaforg Zwan 2, wiifs

(1) ax @l ® @ arm & iR diget s ool ) wwifa =@ 4§

(2) o TF quge Wl b o oWl deEt A 9 ¥ F oy ww W) B T A R

(3] T o5 sxa wia ¥ IR WA § o2 qm Aw o A W PR T R W w2

(4) ﬂww.é%mmmtm!ﬂaﬁ‘ﬁ!ﬁﬂﬁw%ﬁqwﬁuﬂﬁmﬁ?ﬁ?
3. Rivers that pass through Himachal Pradesh are

(1) only Beas and Chenab

(2) only Beas and Ravi

{3) only Chenab, Ravi and Sutlej

(4 Beas, Chenab, Ravi, Sutlej and Yamuna

(185} 2
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Rt wRa @ ot awht Afat §

(1) ¥ | @ R

(2) == @ o ot

(3) ¥aar am, of v waem

(4 =, fem, v, woew @ e

4. Who has been appointed as the permanent representative of India to United Nationa?

{1) Hardeep Puri | (2} Kamlesh Sharma
{3) Salil Shetty (4) Ashok Kumar Mukherjee
v & gy reu fRm enh RAR ¥ w4 BR Ags R w47
(1] =& g8 (2) wem
(3] wim A (4) s FR PEAf
8. Which of the following pairs is not correctly matched?
Dam . i | Lake River
(1) Govind Sagar Sutlej
(2} Kollesu Lake Penner
{3) Ukai Reservoir Tapi
(4} Wular Lake ; Jhelum
P & dhew gm owd @ @ gifwm 0 27
Il et 38
(1) =z wm UERE|
(2} W3y i R
(3) I WEWIR andft
4} T Bt ¥

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U /117 /27 [Set No. 2

&. National Consumer Righta Day is obaerved in India on

{1) December 24 (2} September 25

{3) October 25 ' (4) November 25

wra # TP I sifteR R &8 s Sy 87

(1) 24 Tt (2) 25 fraaw (3) 25 FFRH (4] 25 TR

7. Which one of the following began with Dandi March?

(1} Home Rule Movement {2) Non-Cooperation Movement
(3) Civil Disobedience Movement 4} Quit India Movement

frea i A Rd yeoma ot wd & my gl di?

(1) Bee 2T (2) e A=A

(3) T AWM JRTA {4} wE R FReR

8. Name of the Paldstan Prime Minister who signed the Lahore Declaration in 1999 is
(1) Ayub Khan (2) Yahya Khan (3) Z. A. Bhutto {4) Nawaz Sharif
w9 1999 ¥ o WIMY W TR FQ 9 iR % SOl oA . q?

(1) & " (2) a@n am (3) ¥Be Yo WA (4} @ uhw

9. Which of the following rivers docs not originate in India?

(1) Beas * {2) Chenab {3} Rawvi (4] Sutiej

A= A 8 a13-1 48 wim 3 8 fraeht 87

(1) =™ 2y fm (3) e (4) TaEHA
(1mS5) 4
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10. Super Nova ia

[]] a comet {2) an asteroid
(3) an exploding star (4} a blackhole -
FR a1 ¥ T

(1) g (2) @@ % (3) Fretes Ty (4] =wRa
11. An Indian-borm, naturalized American engineer who was appointed as C
. ; EQO of
Microsoft Corporation on 4th February, 2014 is Pre °
(1) Satya Nadella (2) Vikram Pandi

(3) Indra Noowi {4) Nandan Nileleanii

R IR & AR TiEn ww wiRw, B ¢ wal, 2014 ® TrEwTR Wi
Hodosile figm fsmr mm m, f § & a8 a7 K

(1) W Tty (2) R ordt (3) ¥@ (4) T iy

132. Blood groups were discovered by

(1) Altman (2} Landsteiner (3) Losch [4) Ronald Roas

w-ur # 9w Bm f7

(1) seeta 2y B (3) s (#) WIEE Ta
13. India won in Uber Cup, 2014.

(1) bronze medal (2) silver medal

{3) gold medal (4) None of the above

WY T T W9, 2014 ¥ —— A @y

(1} Ve w2& (2) A I (3) @ o (4) 0% § ¥ W ot

(185} 5 (P.T.0)

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/ 11T 127 {Set No. 2

14.

15.

16.

17.

(185)

Who developed the concept of *World Wide Web' ?

(1] Tim Berners Lee (2) Arthur Clarke
{3) AT and T Bell Lab {4) M-icrnsnft
‘oed angg ¥’ 6 amuom @ Rew Ry e e

(1) Rn wid = (2) e v

B rdw@A I (4] wERHtR

Who is the Army Chief of India?

{1} D. §. Suhag (2} V. K. Singh (3) Bikram Singh (4) Dcecpak Kapoor

% % Ny w9 7
(1) Do m@e gEm  (2) Ao Fo fim (3) fowm Tz (4) &= TR

Ban ki-moon, the present Secretary-General of UNQO belongsa to

(1] Austria (2] China

(3) Japan (4) Republic of Korea

WY apEm ¥ weefE, 9 H-E R m e o ¥

(1) e (2) <= (3) == {4) *rfr TRER

The Rajiv Gandhi Khel Ratna Award, 2013 was canferred on
(11 Sachin Tendulkar {2) Virat Kohli

(3} Saina Nehwal {4) Ranjan Sodhi
mﬁa:ﬂtﬂéamw,'zmaﬁﬁﬁmmw?

(1) oA A 2) fae wheeht (3) 0 IwEm 4) T i
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18.

19.

a1,

{188)

14U/ 117 {27 /Set No. 2

Malavath Poorna has become the youngest Indian woman to scale Mount Evereat at the

age of 13 years. She belonga to the State of
(1) Maharashtra (2} Uttar Pradesh (3] Sikkim

(4] Bihar

wemg ot 13 7 R oAy A R wWw ¥ R W A =) T aR ooy @

widfia widen ¥ ax yEw: A B Rarh 27

(1) ey (2) IR BM (3)
What is the currency of Alghanistan?

(2} Rupee {2} Dirham . (3) Peso
Awrfier & oy s 3 R A 47

(1) ¥ (2) Tewm '. (3) wat

Which country is not a member of SAARC ?

(1) India (2) Pakistan (3) Myanmar
W3- 3 Ak W owe A€ 47

(1} (2) mﬁmm (3) TR

Who is the author of Great Expectations ?

{1} Charlea Dickens {2) Oscar Wilde
(3] H. G, Wells (4] Mark Twain
Great Expectations & s o §?
(1)« Rda (2) SR e
(8) o whe I () Wk 4

7

4) fawn

(4) Afghani

(4 FETh

{4] Bangladesh

(4) WA

P.T.0)
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23.

24,

(1L8S)

The Principal Bench of the Central Administrative Tribunal is at

(1) New Delhi (2) Kolkata {3) Mumbai {4) Chennai
#ze RRelE Twpe # 1 W v safka §7
(1) ¢ R (2) R (3) = (4) =ud

Name of the scientist who received ‘Bharat Ratna’ along with Sachin Tendulkar in 2014
is

(1) C. V. Raman (2) M. Visvesvaraya

(3) A. P. J. Abdul Kalam (4] C. N. R. Rao

T 2014 # ohm oW & a0 e @ A ot ¥ whe e ow fafE P 42
{1) #e o T (2} Wo Rawlm

{3) ®vo flo Ao W FAM (4) o e 3We T

Election to the Lok Sabha have been held so for
(1} 16 times {2) 15 times {3) 14 bmes (4] 13 times

3w 7% e w R e R 9 4

(1) 16 WX {2) 15 §R {3} 14 WK 4 13

Telangana is India’s

(1) 29th State (2] 28th State (3] 30th State (4] 27th State
AT NTE W

=3 ¥

(1) 29=t (2) 284t {3) 30at (4) 27t
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26.

(188

14U/117/27/Set No. 2

Who among the following proposed the concept of Earth Hour?

(1) Jim O'Neil (2) Theodore Levitt

(3) Baruch Blumbers (4 Andy Ridley
Pttt 3 @ e ‘ol st ) asmuen = vere fe e

() fwm sitHm (2) Fee e (3) e (4) @ fed

The largeat gland in the human body is

(1) livm'l {2) pancreas (3} thyroid {4} endocrine

Y R d A A d - oy e @ A7

(1) = (2 rm (3) W (4) WA

Company showing apparent concern on environment by fake methods and shoertcuts to

appear a3 environment friendly organizations is called

(1) green lighting () moon lighting

(3] green washing (4) rainbow warrior
ﬂlgﬁwmnﬁmmwﬁmtnﬁﬁmﬁmwﬁwmnﬁmmm
. avelt e oA d

(1) W amfdn [2) @ wwfén (3) W afim [4) T Tfew

‘WPT’ in ustd as an acronym for
(1) World Price Index {(2) Wholesale Price Indicators
(3) Whalesale Price Index (4} WofRt Pricy Indizsiters
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WPl mr wim Bnx ¥ 4 faews sheefl v & w9 F e wmm ¥7

(1) o¢% WIEE Ve 2) Se@m e ikdd
(3} Bedw TR e (4) a8 W §fEw
30. Narendra Modi took ocath as Prime Minister of Indis on 26th May, 2014.
(1) 15th (2) 14th (3) 12th 4) 13th
.alailﬁil 26 7%, 2014 M WRA & —— yared | wog #h
(1) 159 (2) 143 3) 128 4) 13

Directions : (Question No. 31~38) Following twenty questions conaists of legal principles
and facts. These principles have to be applied to the given facts to arrive at the
most reasonable conclusion. Such principles may or may not be true in the real
sense, yet you have to conclusively assume them to be true.

fiw : (¥ e 31-38) Frfafa dtw vt i fiften R wE awt w1 wman ¥ wafite g
ﬁwﬁmu{aﬁ%m?mmmaﬁtmmmtlﬁWMHﬂWm
wera & o €, T waeR suw gy e do § B & v )

31. Principle : Only Parliament or State Legislatures have the authorty to énact laws on
their own. No law made by the State can take away a person’s Fundamental Right.

Facts : Parliament enacted a law, which according to a group of lawyers is violating the
Fundamental Rights of traders. A group of lawyers files a writ petition challenging the
constitutional validity of the statute secling relief to quash the statute and further
direct Parliament to enact a new law.

1) No writ wonld le against Parliament, as the Court has no aunthority to direct
Parliament to cnact or re-cnact a law

(2) The Court can quash existing law if it violates Fundamental Righta and can direct
Parliamment to make a new law

[3) The Court can quash the existing law if it violates Fundamental Rights but cannot
dirert Parliament to make a new law

(4} None of these

(18%5) 10
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RZFA . ¥am aw svm o @ frfRend @ wed W@ w0 s ) sy oo Rt 9 A
w1 feth =5 & v sl =) ¥ 8 v

™ w6 A W w0 Ep e, @ whel e f o =moRdl ¥ e e
W IPFE W M 0 ¥ o wgy I uw ke R T TR w W wE ) Ao
T 4w A @ = s R O @ W e R W G 33 R e

(1) @2 % fwg o whwm 3¢ wego @ o wwh, w0 B N dg B R D ey R
M AT ER T AR w e b

(2) *¢ wHm WP W @ W L, R w o Al g wa ® W wee
mmwmﬁm%aﬁmme

{3) ﬂﬁmwﬂmﬂmt ﬂﬁﬂwaﬂmﬂmwmt,aﬁnm
N T A R w Bw aff 3 v

TR KRR

32. Principle : Where two or more persona have made a complaint for the grant of
compulsory licence to the Copyright Board, the licence shall be granted to that

complainant only who, in the opinion of the Copyright Board, would besat serve the
interests of the general public.

Facts : Four persons made a complaint for the grant of compulsory licence to the
Copyright Board.

(1) Licence ahall be granted to only one complainant
{2) Licence may be granted to two complainants
{3) Licence may be granted to three complainants

{4) lLicence must be granted to all the four complainants

(185) 11 1.0}
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frgm : h Rm ¥, % W W R e a2fel 3 afad o e & R sidhe
qﬁgtmﬁ%ﬁﬁmﬁ.ﬁmmmmﬂlﬁﬁﬁﬁmﬁhMﬂﬂm
T o g % fm # g @ =t

m:wmimﬁ#mmmtmmMI
(1) IHER ¥ T Pacwa & R f wige fAn smen

(2) wwima A Prwdat #t <hga fmn T wwm 2

(3) wEdw dm Fagrwalal @ whga B S v A

[4) adw A} S PAzredisl B swEve @ wipe e S

33. Principle : Whoever attempta to commit an offence punishable by the Indian Penal
Code and in such attempt does any act towards the commission of the offence, shall be
punished. Stealing is an offence punishable by the indian Penal Code.

Facts : A makes an attempt to steal some jewels by breaking open a hox, and after so
opening the box, finds that there ia no jewel in it.

(1) A has committed no offence
{2) A has committed the offence of atealing

{3) A has attempted to commit the offence of stealing
[4] None cf the above

A it s vid £ d@fkn & aga ZEA Y D s = W wow war R, sl den v %
¥ o RE w3 § wedn 3 aen wf T W 2, 9 22 W weht @ <t endia 2
afn o dET o g R

M A W AW F AYR 3T AT TG TR | wam wy R, B T N ot 3 e
W o T * fF Tmid g @ € A |

(1) A % s @ famn R

2) A3 F7 B 3wm W R

B) A7 0 ¥ W w TR ¥ T W fhw b
(4) JE % ¥ wrf

1188} 12
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34, Pnnmple * An employer ia liable for the negligence of his employee. But an employer is
not liable for the negligence of his employee if the victim of such negligence ia one of hia
other employees.

Farts : A and B were working in a factory as unskilled labourers. A was carrying a
basket of stones on his head. B was sitting on the ground. When A crossed B, all of a
sudden a stone fell down from the basktet and hit & on his head. B died immediately.

(1) The owmer of the factory will be liable

{(2) A and the owner of the factory shall be jointly liable

(3) The owner of the factory will not be liable

(4) None of the above

Rz . w Pae 2N =T B amad ¥ R swer W 4 I B Oew ooy

s @ e % Rm e AR § seerh @ Qo w3 aoEndt W AR 3aw B
7 P gan W

™ AW BT San f sipae APl F S d sm oW @ ¥ A 99 fim w e W
WA MWW ST R @ W AB K T Y T, R AN Y @ W AR
™, @ B % iR W wm B gi@ & wmomm)

(1) wReP ¥ w@wh Jweh g

) AT wRAR 1 W@l uge w9 A It ¥

{3) wraw W w=eh IR o v

{4) |0 ¥ wf

a8, Principle : A person has no legal remedy for an injury caused by an act to which he has
conaented. :

Facts : X, a cricket fan, purchases a ticket to watch an JPL match. During the match, a

ball struck for &ix hits X on his body and injures him, He sues IPL for compensation for
the medical expenses, :

Which of the following derivations is correct?

(2} X should be compensated as he purchased the ticket to get entertainment and not
to get injured

(2} X wopuld be fail in his action, aa he voluntarily exposed himself to the risk

(3] 1PL would be Linble as it did not enaure that the spectators were protestod from the
risk of such ityjuries '

(3] None of the above

(186} 13 P.T.0)
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fizrs ;. it W =d o oma IR A @ wfe ¥ fm g ST e o R, Red
weafy ek gra @ v Wy

X, W Granh, ™ wedflewme N M WA ¥ fm foe wliicm 4 = & dw
R T oW o % v % X ik @ umw @ T R @ smefiorwe ¥ fwg Afdww
Sfagff % foe =yrmem § IR wgE W@ R

frefofom % % P wgfa T8 7

() X # 4R § I e, wife 3 Fers % g R o @, oo N & fm

2) X A TR § Fmea o, w6 s Seengds WHRm we oW

3) Ffoflon@me Ivzel ®Bm, WIfF I da Tfwl N W R T W H Refy § dw
% sgaeq ghftm 3 &

(4) Irdew ¥ ¥ wré aff

36. Principle : Agteements in restraint of marriage are void. |

Facts : X enters into an agreement with ¥ whereunder he agrees not to marry anybody
clac other than a person whose namc starts with the letter and promisea to pay
Ra 1,00,000 to Y il he [X) breaks this agrecment.

Which of the following derivations is correct?
{1) There is a contract between X and Y
(2) There is an agreement between X and ¥ which can be enforced by the Court of Law

(3) There is an agreement between X and ¥ which cannot be enforced by the Court of
Law

{4) There iz a voidable contract between X and Y

figra » faam & sltew aEEw adw A §)

T XY ¥ 09 @& wgen o R, RS g 9 W T R e 1A we % ax
1R Bl 3= =fE 3w Ram T R, R M 3a IR ¥ aw i far 2 o 3z v o9
1,00,000 %o 3% w1 a0 wm &, IR % W wpv | Igws war ¥

frafolen & @ FrR-M gl wft A7
(1} X @Y % e us argea 3
2] X WY % 7 & agav R, Rl Rrem oo o w9 F fg e B s e 2
3 X @Y % 7 o sgav ¥, fall @m0 TRm w2 % R a8 B o @
(4) X @ ¥ % 7 @ ey ey t

(185) 14
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37. Principle : Minor's agreement is void from the very beginning. It can never be validated.
It cannot be enforced in the court of law,

Facts : X, a girl of 16 years of age, agrees to buy a mobile phone from Y, who is a girl of
21 years of age.

Which of the following derivations is correct?
(1) There ariacs a contract between X and ¥ to aell/buy the mobile -phnm: in queation

(2} There arises an enforceable agreement between X and Y to sell/buy the mobile
phone in question

{3) There does not arise any contract between X and ¥ to s¢ll/buy the mobile phone in
question

(4} There arises a voidable contract between X and Y to sell/buy the mobile phone in
question

m:mmmﬁmﬁﬂmﬂmtlﬂmmhwmmm!ﬁ
e & vaffn fen I awa T dan

m:Elisallmﬁma;ﬂwzlaiﬁmﬂ@mﬁrﬁmmmmm
"a TY)
Refefm & ¥ F9-0 iy ot 27
(1) T X @Y % 907 3% Wamm oS /sy W sgew 2@ § o
2 W X @Y ¥ g 36 Swa B F /e W owawd aae afRe § g
B) W X @Y & w36 danm O ¥ /59 | 9 sgEn afew § 9@ smm
{4) mxﬁY%mmmmthﬂfnmmuaﬁiﬂmﬁaim

38. Principle : When one person signifiea to another hijs willingness to do or to abstain from
doing anything with a view to obtaining the assent of that other to such act or
abstinence, he is said to make a proposal. The expression of willingness results in &
valid proposal only when it is made/addressed to some persorija).

Facts : A makes the following statement in an empty hall, =T wish 1o sell my laptap for
Ra 16,000,

Which of the following derivations is correct?
(1) A made a statement that resulted in a promise
(2} A made a statement that resulted in & proposal
{3) A made a statement that did not result in any propoaal
{4] A made a statement that resulted in an agresment

(188) 15 (P.T.0.)

L]
gcollegedunlae
India’s largest Student Review Platform

T



1417117 /27 /Set No. 2

Rigrm : oW T =i R s W 3ER el B et § g fed wd S Res s
W 7 ¥ N O W R FA L, AW IEH @R A W ¥ e R/ ohets mh 2
mﬂmﬁt,maﬁ@mmﬁﬂﬁ%mmﬁwmh

T AT WA mw A 9 a9 2w 2, A & AR R 10,000 3o X dww = €
PR & @ W-d sgeafa w@ &7

(1] AYX o= oo R, o o= 9k = w9 A femn

2] A Y w 2w o, ol o waa w ¥ ow feen

(3} A Y um v i, A Rl weom = w3 fomn

4 A% Tew i, P & sgEy | & & fomn

39, Which of the following is not a Fundamental Right guaranteed under the Constitution

of India?

(1) Right to Work (2) Right to Life

{3) Freedom of Speech 4) Right 10 Equality

welis TROR ¥ A B 8§ A fe geng sfter D A W wem w47
(1) ¥ =1 s (2) SR w1 AR

(3) TF-TEm , (4) waEE w1 AR

40. Fiduciary relationship is relationship based on

f1) contract (2} trust

(3) blood relationship (4} money

i we % w wufa Qo 27

{1) argay 2) favama 3) w-wy (4) W
(185) 16
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41. Which of the following is not an intellectual propesty?

(1) Patents {2) Copyrights.

(3) Trademark {4) Property of an intellectual
Prafafa & @ - = dgs Ty o &7

(1) ¥e (2) wifrg

(3} w (4) v ghehdht A wwf

#2. Which of the ollowing is not the function of the International Court of Justioe?
{1) Advisory opinion at the request of General Assembly
(2) Advisory opinion at the request of Security Council

{(3) Interpretation of treatics when considering legal disputes brought before it by
nations ' '

[4) Deciding international crimes

sl e %1 B2 4 A FR-m w27

(1) e & 0w R RS s 3

(2) g g ¥ sgde v Rdegd v =

(3] W Wy =g Ty A e REdl W A # auy aftdt f =rem e
(@) wifm wol w B

43. Ultro vires means
{1) within the powers {2) outside the powera

(3} within the Fundamental Rights  [4) within the Fundamental Duties
wegr awml (Sftwradie) @ o ¥

(1) wits & awfy (2) whs @ R
- (3) qowm ARt % arate (4) @ wialt & Il

(188) 17 PTO.)
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44. Which of the following Constitutions is a Unitary Conaetitution?

(1) USA {2} Indian (3) Australian {(4) British
i § § Wa-w 7R o R wfaas § 7
(1) wrdrht (2) v (3) =T fermt (4) fufem

48. Ex-parte decision means a décision given
(1) after hearing both the parties {2) without proper procedure
(3) after cheerving proper procedure (4} without hearing the apponent
vl R 1 s @ o 3 Polg, &) s R m™ @

(1} 241 uedl € grad % ow=na : (2} &qgfam wirm & e g aft

(3) wRfm wBFm & wes ¥ T (4} fotdt v & gaaré & ain
46. Ipso facto means ‘

(1) in place of (2] by reason of first fact

(3) by the same gources {4) by the way

ot bt & s &

(1) % AA R (2) T A ¥ amam W@

(3) WA @ ¥ seRr W [4)#9‘«1;

47. intem.vftiunal Law je the law between sovercign States. A sovercign is the Supreme
Authority not bound by legal constraints |

{1) International Law is not binding

(2) Intermational Law is only a positive morality
(3] International Law is binding

(4] International Law is in the nature of pact between savercign States

[18S) 18
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mﬁﬁmwﬁ#mwﬁﬁmwmqmma;a faftms fraiv

() swwigha faftr sowps 4 ¢

(2) =i Rft Fam o Fomres Ao R

(3} =iy Afa dvge § |

(4) g At wriq Wl % wer B g e @ vl § R 2

No minor can enter into a contract of work. Working i
eutel ; g in a factory can be possible o
by a contract. Which of the following derivations is correct? "

(1) A major can work in a factory

(2) A factory can contract witi-; a minor

[3) There cannot be a contract to which minor is a pa;r.ty
{4) None of the above

Wt st v wd fovew sEw o W awa) fed wreR § ww s e |
® 93 ) P 3§ @ Ari s wh 42 SR

(1} & aw flh wrard & w2 dm

(2) W& wrarn Reh seres & am wgew w0 awar 2

(3) A & = oy R D AR F N agEn ey
(4) s & & wrf ol

Which among the following in the Constitution of India is called Magnacarta'?
(1) Directive Principles of State Palicy

(2) Preamble

(3] Fundamental Duties

) Fundememtsl Rights

19 Wi ooF
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vty dfra 3§ Rt § 3 s Bumet’ @ o 412
(1) T % R AR Rigr @) Ve
(3) WEnE *= (@) e SRR

§0. The Preamble of Constitution of India is

(1) a part of Constitution (2) not a part of Constitution

(3] an annex to Constitution (4) a schedule of the Canstitution
wdla dfamm f yeeam —— 2 |

{1) dgE +1 T 9 2y @l | & v TR

(3) ¥Rwm = & shide (4) afem § & IPR

51. Who is the final interpreter and puardian of Indian Constitution?
(1} President {2) Prime Miniater
(3) Parliament (4) Supreme Court
vt wfagm | aifm semm W OWEE P’ R
(1y Tgufa (2) wurneh
(3) ueg | (4) wat= e

§2. Right to life and personal liberty is guaranteed to
(1) every person under the Constitution of India
{2} every citizen under the Constitution of India
(3) every adult citizen under the Constitution of India
{3) every minor citizen under the Constitution of India
(188) 20
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T @ =i www W ARmR g e w2
(1} wwella wRu ¥ w3 sds =R %

(2| v whem & wen SRS e ®

(3¢ vl dfoam & TE RS TRE WiE
(4} wrdln @RF & oy YRAE sans ThE R

¥3. Find the odd one out

(1) Mandamus (2) Certiorari 3} Quo warranto  (4) Sine die

Prafafes # & fm mz A Rk =t

(1) Hedwg (2) sl - (3) W wwa (4) @ o
54. Concept of judicial review is of the Constitution of India.

(1] temporary feature (2) basic feature

(3] weak feature {(4) irregular feature

At gAfdan £ vy vmdla @i 6 .4
(1) wearfl wotEn  (2) [eMe ¥REN (3) R ER@ (4) sPRba woEn

§5. The Supreme Court of India consists of Chief Juatice of India and other Judges.
R % HAe e ¥ 9RE S g e 3 afife s e 2y §)
(1} 30 (2) 25 3) 26 (4) 29

86. India 15 & Union of
(1) Countries (2) States (3] People 14} Iustitutions
W oE ww
(1) * = (2) T W @) o w® M) deelt w

(188} 21 &.10)
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S57.

38, .

59.

60.

(188)

The Indian Penal Code was enacted in the Year
gt 7z dfen fon o o © e
(1} 1960 (2) 2010 (3) 1760

An agreement made without consideration is

(4] 186D

(1) walid (2) void {(3) good (4) acceptable
form At Wre Pew & e T sgEm B R

(1) 9 . (2 TR (3) = (4) whtwrd
‘Jurisprudence’ may also be termed as

{1} Philosophy of Law (2) Geography of Law.

(3) History of Judges (4) History of Courts

‘O T R A a3

(1) = w P (2) =@ & yma

(3) =i w s (4) =mwert W yRew

A person ‘dying interstate’ means he

(1) died without legal heirs (2} died without making a will
(3) died without a son (4) died without any property

‘T TR’ A s &, ag =fs @

(1) I @3 Rh aifm & 7 35 ™ w
(2) frn fedft witaa % g W IW A ™D
3 i A ERINT A

MsRd Rt a R dmggHwama

22
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61. Offence which cannot be compromised between the partics is known aa

{1) non-cognizable offence (2) cognizable offence
{3} compoundabic offence (4) non-compoundable offenice

w6 vy ol AR IR T AU & e wq d aEn W 2
(1) sagfr Jqow  (2) ¥ AW (3) FMdT sty (4) STEE AW

63. LDuri.ng criminal prosecution usually the burden of proof is on

(1) complainant  (2) accused (3) police (4] prosecution
ot S 4 e = ofiE A } R R o R?
{1) whard (2} - wmrw (3 B (4) s

63. Supreme Court of India propounded basic feature doctrine in

(1) Golaknath Case (2) Kesavananda Bharati Case
[3) Manéka Gandhi Case {4) Gopalan Case

Wra % W AR 3 g v g @R TR § W e a?

(1) v aw (2) ¥wawz et I

(3) Pt el arg (4) T AR

64, Unlawful entry into another's property ia

{1) trespass [2) assault (3) coufinement  (4) restraint
et o =fE @ e qEat § R E@n ® e ow f
{“.m *,!' (2) K (3} mﬂr L) b ﬂtﬂ
(188) 23 (P.T.0.}
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65. When the employer is held liable for the wrongful act of his employee, the liability is

called
(1) absolute Lability (2) tortuous liability
(3) vicarious liability (4) strict Liability
» it % Al STl AR & R oww w FRw W soedt e Rar ww, @ vaR
IAEIA N wE\ I R
(1) g Fozam (2) ¥araqd IR
(3 vhffe e (4) AT IwHN
66. The right of a party to initiate an action and be heard before a Court of Law is called
(1) Locus standi [2) Pesanam
(3) Fundamental Right (4) Private obligation
v AnreE 4 wadl @ gaad % Rl oy & afisr N w0 oww @ 22
(1) e &3 {2) wHw (3) TovE AfEn @) Feft ofve
67, Indian Parliament is based on the principle of
(1) Bicameralism (2) Universal Adult Franchise
(3) Diarchy . (4) Federalism
g duz fem g M anafa 2 :
(1) e (2) AfRw s wmitex
(3] Lowma [4) g
68. Private International Law is also known as
{1) Conflict of Laws (2) Common Law
(3] International Law (4) Civi) Law

el swridhy Rft N s sma 3 @ s amen Ry
(1) A ot (2) aorafaf (@) it AR () ks R

(185) 24
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Directions :  (Quention No. 69-80) Given below are Legal Principle followed by a Factual

Situation. Apply the principle to it and aelect the most appropriate answer for
duestions among the four choices given.

fvéw (¥ Fom 69-80/M7 fftrs figr stk aammms it &k ¥) 993w Rigrl w0 i
ot it Rredt f ) walftes 3vgw e w1 a7 WA ge st & sl

-

69. ugnl Principle : Nuisance means an unlawful interference with a person’s use or
enjoyment of land. It includes interference with comfort, health and safety of the other,

Factual Situation : A and B are neighbours in a residential locality of Delhi. They had
cordial relations. A suddenly decided to run singing classea, he also used loud music to
good effect. B has two school going children who were studying seriously as their
cxaminations were approaching. B pleased with A to tone down the loudepealkers, but
the latter refused. B went to the court pleading nuisance. Can he succeed?

(1} Yes, because the principle against nuisance demands that the noise level should
be such as not to diaturb the neighbourhood

(2] Yea, because to run business in a residential locality is illegal
{3) No, because one is entitled to do whatever one wants in one’s house

[4) No, because under Article 19(1) (g) of the Constitution of India, evety citizen has a
right to freedom of trade or profession

it figmr . Tem e s wd & s R R =ie zo fy ¥ SvET s Imd
1 i vl wit = =% % arm, @ne @ g § semv o amRE &

s AR AW B R § w aanfln wod d -t & e £ o mp weem A
FATE A 3 W = e a0 miv fer, Rl a5 42 w0 ¥ wim = @i ft =3 @ B
¥ A ol ¥R o @, AN Oy P A F T ivirmgde s w0 % R oW 9 B
At onerfil A sma A M e fA R e wm M B A %
i sragr & feg Amaman 3§ anren TR fEm w0 T W e § wwe Ay

(1) &, =R sfeas wrifd g & = mim R B o = = B B o} 9
W wer Af B Wik

2] |, wiife e v 3 sgaww e adw §

(3] T, Wh 99 | § ATH TETER T BT | ANER weft B AW R

() W, Wi el SR F gz 19(1) (@ ¥ BT WE IS W wwm W b
IeR W Few ww

(185 25 (P.T:0)
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70. Legal Principle : When at the desire of the promisor, the promisee promises to do some
act, then such promise is called a consideration of the protmise.

Factual Situation : X arranges his birthday party at his home, and his friend Y promise
to cook a mpecial dish for the guests. On the day of the party, X finds that Y neither
came to his party nor did he get the special dish. X sues Y for the breach of contract.
Will X succeed in his actionr?

(1} X will succeed because his friends has failed to keep hia promise
(2) X will succeed because his reputation was affected due his irresponsible behaviour

(3} X will not succeed because there is no consideration for his friend’s promise to
bring the special dish

(4] Both (1) and (2)

it fagm : 9w wif sRgeal Bh =fs B R A 76 ¥ w7 = W, @ wR
W % W IeAaga FE war ¥y

oS Tl @ X 3@ A R W @ ™ T At W ¢, Red
fay i S ffie s M s | o S R X N oo 2 >
Y@ uwd & wm sl a @t oar fafie a3 faw fem XY & feg omv % pw oW
A TR RN &1 ® X A tE e ¥ wew #m?

(1) X woar W, wifs sad @ 3 e a99 @ @

{2) X 9% ®m, with fa 3 g e 3 woasw W vhm w e O
(3) X ava 7@ W, Wik 30 il N Toawgm Reofia o 2

4 (1} @ 2 A

71. Legal Principle : Law does not take notice of trifles.

F‘actual. Situation : A proposes to his neighbour B that they both should go together far
a morning walk. B agrees to the proposal and it is decided that bath of them would
meet at a particular point at 6 a.m. every day for a continuous period of seven days.
But B couldnt fulfil his promise. Thereaiter A files a suit against B claiming damages
for the agony and mental torture suffered by him. Decide,

(1) B iy guilty of breach of contract and is liable to pay damages
[2) There is no intention to enter into legal relations

{3) The rmatter is too small and the Court will refuse to go into it
(4} The matter is serious and Court will accept claim of A

(185 26
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e R . T e W W et @ = w8 2

Fae® fRUR . A 9 Rt B $ WU T v T 2 B 6 yRaERie oy b R
W YT W B TR W A weEfa s wen R ol wr @ R & v 2 s wme
ﬁﬂnmwﬁﬁzmmnﬁﬁzmzﬁﬁﬁmﬁlﬂﬁnammwmi

SR W WE A A A B T g W TR IW 6 W weRE s & R sfagi
W gEen R fmm Fofe fifig)

(1) B 2gwu & g9 w1 8 @ afff ¥ wom & for st &
(2) = wrph wiret  $war 9 Ew

(3) W o Al & R e W B sdad v @ R ow dm
(4) W i § ot e A ¥ 7@ R wiEr | S

72. Legal Principle : A master shall be responsible for the wrongful acts of his servants in
the course of his employment.

Factual Situation : ‘The Syndicate Bank' was running a small savings scheme under
which its authorised agents would go round and collect small savings from several
pcople on daily basis. These agents would get commisaion on the deposits so collected.
Anand was one such agent, collecting deposita from factory workers engaged on daily
wages. Though he regularly carried on his business for sometime, slowly he started
eppropriating deposits for his personal use and onc day he just disappeared. One
Fatima, who had been handing over her savings to him found that nearly for a month
before his disappearance, he was not depositing her savings at all. The Bank, when
approached, took the stand that Anand was not ite regular and paid employee, and
therefore, it was not responsible for his misconduct. She files & suit against the Bank.

(1) The Bank is not liable, since Anand was not its salaried employee

(2) The Bank is liable. since Anand was projected as ita employes

{3) The Bank is not liable, since it did not known about misappropriation by Amand
{4) The Bank is not liable as Anand was not its mﬂltilnd paid employoee

[186) 27 PTO}
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3o% 3 afHd I ¥ fog swgeh Al & whw A €5 F fvg @ amen R =
(1) &% Ivweh W 8, Wi o IFw @ Farim wE W @

) & Toerdt ¥, Wik Iz N Iuk wW F w0 F W e o ow

(3) ¥ ol T R, FifE W wrE T TR & TR R IEEd 36 @

@) &% Iagrh T, it sz o Pl @ el wiald @ o

73. Legal Principle : Whoever, intending to insult the modesty of any weman, utters any
word, makes any sound or gesture, or exhibits any object, intending that such word or
sound shall be heard, and that such gesture or object shall be seen, by such woman, or
intrudea upon the privacy of such woman, shall be punished.

Factual Situation : Ms. Praveen works in an Export House in Greater Noida. There are
more than 150 employees along with workers in such company. One of the employees
Roshan wanted to have some talks with Ms. Praveen., But she scolded himm in front of
sonte 50 workers in employee’s canteen. Taking this grudge, Roshan every day during
entry at moming patted Ms. Praveen’s hand and shaked her right-hand for few
minutes againsat her will, One day -she made up her mind and informed her Boss. But
the Boss due to the work efficiency of Roshan did not take any actien. She alternatively
informed the Police. Police arreated Roshan. Roshan told the Police to defend himself
that he used to shalce her hand as it is a manner of wishing a colleague and that his

Bgas is enough to take action because it is the work place and hia Boss is competent to
decide matter himself. Decide.

(1) Roshan shall be¢ punished because shaking hand with a pgirl against her wili

amounts to the sexiial harassment at work place and such an act is subject to be
proaccuted

(2} Rashan can be punished only by his Boss not by Court of Law and if his Boss
forgives then no law is there infIndia to punish him

(3} Roshan shall not be punished because shalking hand is no offence in India -
(4} Roshan shall not be punished because he acts in such manner only during office
hours and before many employees not in an abandoned area

(185] 28
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{1]'ﬂm.zt;mﬂwﬂi,;ﬁ;mmﬁwﬂm'ﬁm!m%ﬁmmWﬁm
fa-gediyr ¥ wt R AR W TR T oram TEd

(2) v Fuwr 3wk afe g0 R 2Ra fem = wea R, o oo Tl otk A wie oA
AWML, AF AR I AL R BRI & o

3) tww Zm w vt 3@ 4, WifE o9 e wwe & e W W= 9@

‘Wt e vl 8, Witk o el gE v R e v & 9d # e e @
wialat & Aot @ W S o ¢

4. legal Principie : The oocupier of a premises owes a duty of care to all his invitees and

Factual Situation : Lalod was running a dairy from his house, People used a part of his
farm as a shortcut to get to a nearby railway station. Laloo who did not approve of this,
put up a notice tiat “Trespassers will be prosecuted™. However, since a number of
these people were also his customers, he tolerated them. One day, a person who was
using thia ahortcut was attacked by a bull belonging to the farm. The injured person
filed & auit against him.

(1) Laloo is liable for having kept a bull on his farm

'@ Lakeo is aut liable in view of the clear natice agairrst trespassers

{3) Laloo is liable because in fact he allowed the people to use his premibes
{4) Laloo is not liable to the people other:thas I cymiomisry -

(L88) 29 ARe.)

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/ 117 /27 /Set No. 2

ﬁ%ﬁm:ﬁmmﬁmmmﬁaaﬁﬁﬂ@aﬁﬂﬁmﬁwﬁﬂwm‘
fardizr &rav R

Wﬁﬁﬁ:aﬂﬁﬁﬁ:ﬁﬂﬂhﬁmmmmmqﬂﬂ%@mmm
el 2R w5 W TER ¥ R B W 3w W T R @ 0, whe @ ow

| P A B AR AT wA e d3 % ard @ AR R R A & oed agE A
o o i R, TERW I TEES W A1 U5 URRE @ - TR} TR Q&
@ wd > TE 8w 3 v o fam ume sy ) e & feg Tren TR W R

(1) o @9 v W AW w ¥ fem et d
(2) mmﬂtaﬂt,ﬁﬁ:wﬁwﬁmﬁmmﬂ%&awﬁﬁ

3) wE T ¥, Wi o § SR W TR & ofe & owm oE Ao e w3
wh

14) L W T ¥ ARfe = wfelt ¥ R s R

75. Legal Principle : Whoever by words, signs or otherwise brings into hatred or contempt
or incites disaffection towards the Government established by law in India shall be
punished with imprisonment for life.

Factual Situatiot: : In a public meeting, Vikas Singh, the leader of an opposition party
thunders, “This is 8 Government of scoundrels, bootleggers and scamsters. They
deserve to be unacated. Teach them a lesson in the coming elections by voting them out
of power*. The Government is contemplating to prosecute Vikas Singh.

(1] Vikas Singh is guilty of sedition for having made irregponsible and mflammatory
atatements against the Government

(2] Vikas Singh ie not guilty of sedition as he iz only exerciaing his freedom of speech
in public

{3) Vikas Singh is guilty of sedition, as his atatement would incite people to violence
leading to breakdown of law and order

[4) Vikas is guilty because he has used abusive language

(185) 30
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ﬁﬁ:ﬁmﬂ-:mﬂ.ﬁﬁmmaﬁiﬂmﬂ'hw'%wﬁamﬁt'ﬂw,
Mmmﬁmﬂmﬁfﬁwﬁm&aﬁmmmmM|

Ve R : 7w Wi w o ofes B e T 2, o wew g, o

mnﬁﬂmtlisﬁﬁﬂmﬁqaﬁtmhmﬁmimﬂMn
s el wn e @ wogwom TR & W i e of) R

(). Ty fim weam & favg A Randerrn ot w1 aw=dl & avm vas & o 4

ﬂ)ﬁmﬁsuﬁztmmﬁ.mimﬁﬁwimmﬁ-w—mim
LB o R W

B Pam fa e = b £, wifE I s @nl w o BB oy e W
v ¥ R <fom vift-mmen B dmwe § W W w2

() fawra ekt €, =i D avvd Ak a = = fe 4

76, legat Principle {I} : Mischief is an injury to propeaty with the intention of causing
wrongful loss to any pereon or public.

Legal Principle [M) : The person to whom the loas is wronigfully caused by mischicf nced
not be the owner of the property himself. '

Factual Situation : A has icased his house to B for 5 ycars. After one year A feels the
need for the house and requests B to vacate the house, but B refuses. A in order to get
B to vacate the house, causes fire to it, but B with the help of the neighbours quickly
extinguishes the fire before it could really damage the property.

(1] A is guilty of mischief

{2) A cannot be guilty of causing mischief

(3) A is not guilty of mischief as there was no demage

i) A is mot guilty of mischicf because A is owned §F that- houd

(185) 31 P.T.0,)
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ﬁmmnazhﬂwﬁﬁmwﬁﬁﬁmhﬂaﬁw@ﬁ%mﬁﬂaﬁmﬂmﬁ
ﬁﬁﬁtﬂmmﬂ]mtl

Wﬁmm:mﬂﬁﬂmmﬁaﬁmmaﬁ@mﬁt,mmmﬁm
wrh g e T ¢

e AR AY T A BN SN s R RPN E A F IR AR T
am € e B & 3 qe B A adv wow 4 5 v 3W W W wreh W 3, W B
Qmaﬁﬂmnmtmtlsmmahaﬁhaﬁt,mﬂw&ammiajmmamt,
A7 B qORAT 0 TEEm ¥ oy B Twed § g W A R @ s A gl W R

(1} A wr@ &3 % a9 &

(2) A Y@ W & N T B ww

@ AncrFA wdM AR af g

[4) A Wra = = odh off 3, wif o W@ TR = miee }

77. A finds a diamond ring lying on B’s table. A picks up the ring with the intention of
dishonestly kesping it.

i1} A commits theft because he has moved the ring from B’s table without his consent
{2) A does not commit theft because he has still not left B's house
|13] A does not commit theft because B ia careless with his valuables

(4} A commits theft the moment he picks up the ring dishonestly and intended to keep
it ‘

AR R WA A oft of 2o A wepf R W gm o A R @
Hf w3 AW Y

(1) - A 0 = nft §, wif% ax B A dw w & 3o gafr & aiv A B w=mim d
2) AR W AR ¢, wiF s F- e B & Wt & «rm = mar 2
(3) A S = 2nft 7l §, wiifs B grEEw Iel F AR orER R

(4) A Fh 591 7 AN = AR R, e @ WEE I R 3w dwm sk R 9w ™
N W W Fen }

{188} ] 32
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T8. Legal Principle : When any person dishonestl
; : y takes any movable property gut of th
posscesian of any other person without his consent, he is guilty of thcrg R

Fatcutualfmlnun : A comes to B’s house and takes away a book with the insention to
return i

{1) A commits thef because the book has been taken without B's consent
(2) A does not commit theft because he intends t¢ return the book

(3] A commits theft becausc he has taken a book which ia movable property
{4) A commita theft because he has moved the book from E's house

it R : T8 < =i weps Al safes @ w9 wfa 7)) .
&, M I N0 T W 20 R L h L ST

v i AP mamt T s g R aTm W S g d QA I b
(1) Aa\ﬂmﬁmmamsﬂmﬁ%wWﬂw

(2) A0 & 3 Ad ot 8, w0 FW WD gEE W aww W2 W om

(3) A0 T = D R, WS T Tw A oW, M T T R

4] A%mﬂt.ﬂ&mwﬁﬂﬁmﬂwﬁmm

79, Legal Principle (I} : Any person may use reasonable force in order t¢ protect his
property or person.

Legal Principle () : However, the force employed must be proportionate to the
apprchended danger.

Factual situation : Ravi was walking on a lonely road. Maniyan came with a knife and
smd‘to Raw, “Your life or your purse”. Ravi pulled out his revolver. On seeing it,
Maniyan ran. Ravi shot Maniyan on his legs.

(1) Ravi will not be puniehed as there was danger to his property

(3} Ravi will not be punished as thc force he used was proportionate to the
apprehended injury

{3] Ravi wmd :: _punished as the force employod was disproportionate to the
apprehen injury . .

(4) As Maniyan ran to escape, there was no lmp,t“tﬁmm 8o Rawi
will be punished ' '

(L8S) 33 w1,
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(185

fafte fag= m:ﬁimwﬂiaﬂmﬁImﬁiﬁuﬁtﬂﬂgﬁﬁwﬁmmﬂm
3
Al Riges (1) : ey TR | wm qonfe w@t & sger @ e T

amvea (R : @ w Py woes W & W w v gm # gl R W S 9@ amn
sht @& #m, "Wmquﬂ”tthiuﬁmﬁmmﬁmmﬁ%aﬁqﬁmml
1 3 farer & oA 3 W ® sl | R

(1) R e A B smen, wifs Iah e F TAO @
@ £z @ Fm wen, FWi% I8 walke 2 % o 3 B e = yAm fen @
(3) T F gz R angn, wits W woafva W F sque § afte afe % w@m B

) ﬁmﬁﬁmmmm,m&ﬁaﬁﬁﬁWmelmﬁ
% =fiw e Smom

Legal Principle : For purpose of exercising right of private defence physical or mental
capacity of attacker is no bar.

Factual Situation : Sumit in his madness attempts to kill Shabana. Shabana in erder
to save hergell hits Sumit with iron rod.

(1) Shabana has right to private defence though Sumit iz mad

2] Both Sumit and Shabana are guilty of no offence

(3) Shabana has no right of private defence since Sumit is mad

{4) Shabana is guilty of inflicting grievous injury on Sumit
mm?mzmma:mtmﬁmﬁmmmmﬁ
war T8 B

rares Ry : ghim e B fAfy § e o= f S o ¥ b wfea *
fom g o o= Wk ¥ U ® WER A R

(1) vwa 7 =afer s | st R, vl ghm e 2

{2) g =& Narn 49 Heow & 20 ol ¥

@) T W =fm wew w s @ 2, ®E g T
(4) T g A i v { A wa f 2t R
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81. X can walk A certain distance and drive back j WRYS
_ in O0b hours. He can also walk both
in 10 hours. How much time will he take to drive both ways?

{1} 02 hours {2} 02 and half hours
(3) G5 and half hours (4) four hours

PR e §ac X woam W06 R A A he www b Tw A SR e
"tawxmtiéﬁaaqﬂﬂmmmtnhﬂaﬂzmmmazm{ﬂahﬂmﬁw

¥ W W amy
(1) 02 @ & (2) 02 W 2 62 #
(3) 05 79 am w F (4) W= 52 ¥

83. A sum of Ra 7,000 has to be used to give seven cash prizes to the playere of a team for
their performance. If each prize is Rs 200 less than its preceding prize, what is the least
value of the prize? ‘

7,000 3o $ v& Of W I A0 F el B % T vain ¥ R v R )
W% R e am ) T W gl B @ 200 %0 W R, D @ Ui Qe
v fafofem ¥ 4 Sda-w dme?

(1) Rs 300 {2} Ra 400 {3) Rs 600 (4) Rs 800

83. The tank-full petrol in Mrs. A's car laats for 10 days. If she starts using 25% more cvery
day, how many days will the tank-full petrol last?

e A Tl w0 uf AR 4w @ R 10 R v b1 AR ar wRRE 25% sritee
e = M R, @ 3w d 0 R e R e @

(1 S (2) 6 @ 7 (4 8

(185} 35 {P.BAR]
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84. Examine the following three figures in which the numbers follow a specific pattern :
4R @ v 7 ahd W am A [, Rat goad on frie s 3 8

54 81 88
14| 12 18| 9 0?11

The missing number {?) in the third figure above is

e argfa & fgm = (7) @

m 7 (2} 16 . : Ay 21 (4y 28

88G. A car travels at a certain average speed for a distance of 63 kan and then travels a
distance of 72 km at an average speed of 6 km /hr more than ita original speed. If it

takes 3 hours to complete the total journey, what is the original speed of the train in
km/fhr ?

W ¥ @ A0y 1R A 63 km R 2 % @ ¥, W W2 T ot 4@ R @ afvs el
6 kmfhr B 1fd @ 72 b 6 T T b R A FT ow B i T T 3 U W gy
ar &, @ IR P ga R km/hr § Pl 4 @ - 40

(1] 24 {2] 33 - (3) 42 4} 66

86. A boy X running at 8 km/hr is chased by his friend Y whose speed is 10 lan/hr. If X is
100 m ahead of Y, then the time required for the ¥ to catch X will be

8 km/hr B M } ITA 4@ @ TotF X W *w I fm ¥ R e e 2, R ofy

10 km/hr 31 7R X, Y 2 100 m 3 0, D ¥ & ¥ | W ¥ v D am A
Mavadar wrft?

(1) 2 min {2} 3 min (3) 4 min (4} 6 min

{185) 36
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$7. Ip a class of 45 students, a boy is ranked 20th, When two - ~
» | boye joined, hi
dfOPPﬁlbY.me.Whpti:hianewmnkﬁ'omtl;c,md? in

{1) 25th (2) 26th (3) 2hh @) 28th

45 wt W et wntl oo wes 208 B 3 R wan w3 wiefom me, o ‘swm
A D TR Wl s @ v e § 2 e @y !‘L -

(1) 259 (2) 264t (3) “o7d (4) 28at

88. There are some balls of red, green and yellow colour lying on a table. There are as ANy
red balia as there are yellow balls. There arc twice as many ycllow balls as there are
green onea. The number of red balls

-

Gi. jo caial 30 the sum of yellow and green balls
(@) is double the number of green balla

3) is equal mrﬂwmmﬁunm balls

{4) cannot be aacertained

W R, RGN o B R R v b R b a b deh A
& v v Y A grh 9w @ s W ’

(1) Heh o ¥ A & WM X T

2 W i3 @ den @ et

(3) Wik A B wEm ¥ 7 W H qon v ¥ yw = F e
(4) FRET = smoE

89. A wheel that has 6 cogs is meshed with a larger wheet of 14 cogs. When the smaller
. wheel his made 21 revelutions, the number of revolutions made by the larger wheel
will be

6 TH I T AW 14 I T W 3= v - wRE U W W TR 21 W QW
A, ¥} W T R T R e W

(1) 4 2 9 @ 12 ) @

(185) 37 {P.F402)
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90. Mr. X drives to hie office at an average apeed of 48 km per hour. The time taken to
cover the first 60% of the distance is 10 minutes more than the time taken to cover the
remaining distance. How far is his office?

f X AR FR RN 48 km R R A dwg R & ww W AW AR ae & Ay AfeE
aﬁqﬂ%mm%ﬂmmﬁwﬁmmﬂw(ﬂﬁmmﬁiwﬁmﬂmﬂ10
e wftm ¥ ¥ TR AReE el g0 W R7

(1) 30 km (2] 40 km (3) 45 km (4] 48 lan

91. There is a family of 6 persons A, B,C, D, E and F. These are two married couples in the
family. The family members are lawyer, teacher, salesman, engineer, accountant and
doctar. D, the salesman is married to the lady teacher. The doctor is married to the
lawyer. F, the accountant is the son of B and brother of E. C, the lawyer is the

daughter-in-law of A. E is the unmarried engineer. A is the grandmother of F, How is D
related to E ¢

(1) Brother (2) Sister . (3) Father (4] Grandfather

wmﬁaaéﬁas,c,n,sﬁFtlmﬂa&m&aﬁttmﬂ%maﬁa,
frgs, frdm, SRR, v o e 1 RBa D T faw witen Mt A gam 4 S
NfmAdR I @R FBEF P E@EFT MR CAR IR U E®
aw sk SRR W AF R ad D@ £ T v ¥7

{1y wf (2] " {3) R 4) T

92. How many letters of the English alphabet [capitals) appear same when looked at a
mirror?

zfw % 3w w Fsh aofwen % e e sRR wwane weie DA €7

(1) 9 (2) 10 3 11 (4) &

(185) 38
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93. Three persons X,V and Z wore T-shirts of black, bluc and orange colours (not
necessarily in that order) and trousers of green, yellow and orange colours [not

nccessarily in that order). No person wore shirt and pants of the same colour, Further,
it in given that '

M X did not wear T-ah.il"t of black colour
{Il) Y did fiot wear T-ghirt of blue colour
() £ did not wear T-shirt of orange colour
V) X did not wear trousers of green colour

(V1 Y wore trousers of orange colour
What were the colours of the trousers and T-shirt worn by Z respectively?

(1) Orange and black
(2} CGreen and blue
(3) Yellow and blue
(4) Yellow and black

TR XY@ 2 s, W ™ y
™ £ (T = wgEn D Awees o ¥ fh B s 3 @ @ o
£ s sfifes @ @ Irer A ok kR

M X 3w & w d-wd lff e
i) Y 3 o w A-w ol ven
{m 2 1 ot &1 7 A-w ff wn
V) X A @ &6 % aoff wwht
W ¥ A W o @ G e
Zww iz A-w & M Fon w47
B ol wwm (2 W e (@) dwwi e (a7 G o e

{“.-5.'! _ 39 rana )
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